1. 32X4=

30

3.4.G—-1X 2 Mult — Expanded Form - PS

2.15X2=

10

3.4.G—-1X 2 Mult — Expanded Form - PS

3.31X3=

30

3.4.G—-1X 2 Mult — Expanded Form - PS

4. 23 X5=

20

3.4.G-1 X 2 Mult — Expanded Form - PS

5.14X3 =

10

3.4.G—-1 X 2 Mult — Expanded Form - PS

6.45X3 =

40

3.4.G-1 X 2 Mult — Expanded Form - PS




3.4.G -1 X 2 Mult - Expanded Form

Problem Set: 1

1

2

3

128 30 93 115 42 135
7 8 9 10 11 12

656 144 248 292 855 585
13 14 15 16 17 18

328 180 576 364 140 594
19 20 21 22 23 24

296 120 612 391 105 504
25 26 27 28 29 30

208 415 72 213 256 483
31 32 33 34 35 36

153 392 130 122 198 207




7.82X8=

80

3.4.G—-1X 2 Mult — Expanded Form - PS

8.72X2=

70 +

3.4.G—-1X 2 Mult — Expanded Form - PS

9.31X8=

30 +

3.4.G—-1X 2 Mult — Expanded Form - PS

10.73 X4 =

70

3.4.G-1 X 2 Mult — Expanded Form - PS

11.95X9 =

90 +

3.4.G—-1 X 2 Mult — Expanded Form - PS

12.65x9 =

60 +

3.4.G-1 X 2 Mult — Expanded Form - PS




3.4.G -1 X 2 Mult - Expanded Form

Problem Set: 2

1

2

3

128 30 93 115 42 135
7 8 9 10 11 12

656 144 248 292 855 585
13 14 15 16 17 18

328 180 576 364 140 594
19 20 21 22 23 24

296 120 612 391 105 504
25 26 27 28 29 30

208 415 72 213 256 483
31 32 33 34 35 36

153 392 130 122 198 207




13.82 X4 =

80

3.4.G—-1X 2 Mult — Expanded Form - PS

14.36 x5 =

30

3.4.G—-1X 2 Mult — Expanded Form - PS

15.64 X9 =

60

3.4.G—-1X 2 Mult — Expanded Form - PS

16.96 X9 =

90

3.4.G-1 X 2 Mult — Expanded Form - PS

17.35X4 =

30

3.4.G—-1 X 2 Mult — Expanded Form - PS

18.66 X9 =

60

3.4.G-1 X 2 Mult — Expanded Form - PS




3.4.G -1 X 2 Mult - Expanded Form

Problem Set: 3

1

2

3

128 30 93 115 42 135
7 8 9 10 11 12

656 144 248 292 855 585
13 14 15 16 17 18

328 180 576 364 140 594
19 20 21 22 23 24

296 120 612 391 105 504
25 26 27 28 29 30

208 415 72 213 256 483
31 32 33 34 35 36

153 392 130 122 198 207




19.74 X4 =

70

3.4.G—-1X 2 Mult — Expanded Form - PS

20.24 X5 =

20

3.4.G—-1X 2 Mult — Expanded Form - PS

21.68 X9 =

60

3.4.G—-1X 2 Mult — Expanded Form - PS

22.99x9=

90

3.4.G-1 X 2 Mult — Expanded Form - PS

23.35X3=

30

3.4.G—-1 X 2 Mult — Expanded Form - PS

24.56 X9 =

50

3.4.G-1 X 2 Mult — Expanded Form - PS




3.4.G -1 X 2 Mult - Expanded Form

Problem Set: 4

1

2

3

128 30 93 115 42 135
7 8 9 10 11 12

656 144 248 292 855 585
13 14 15 16 17 18

328 180 576 364 140 594
19 20 21 22 23 24

296 120 612 391 105 504
25 26 27 28 29 30

208 415 72 213 256 483
31 32 33 34 35 36

153 392 130 122 198 207




25.52X4 =

50

3.4.G—-1X 2 Mult — Expanded Form - PS

26.83 X5=

80

3.4.G—-1X 2 Mult — Expanded Form - PS

27.18X4 =

10

3.4.G—-1X 2 Mult — Expanded Form - PS

28.71X3=

70

3.4.G-1 X 2 Mult — Expanded Form - PS

29.64X 4=

60

3.4.G—-1 X 2 Mult — Expanded Form - PS

30.69X7=

60

3.4.G-1 X 2 Mult — Expanded Form - PS




3.4.G -1 X 2 Mult - Expanded Form

Problem Set: 5

1

2

3

128 30 93 115 42 135
7 8 9 10 11 12

656 144 248 292 855 585
13 14 15 16 17 18

328 180 576 364 140 594
19 20 21 22 23 24

296 120 612 391 105 504
25 26 27 28 29 30

208 415 72 213 256 483
31 32 33 34 35 36

153 392 130 122 198 207




31.51X3=

50

3.4.G—-1X 2 Mult — Expanded Form - PS

32.49X8=

40

3.4.G—-1X 2 Mult — Expanded Form - PS

33.26x5=

20

3.4.G—-1X 2 Mult — Expanded Form - PS

34.61X 2=

60

3.4.G-1 X 2 Mult — Expanded Form - PS

35.22X9=

20

3.4.G—-1 X 2 Mult — Expanded Form - PS

36.23 X9 =

20

3.4.G-1 X 2 Mult — Expanded Form - PS




3.4.G -1 X 2 Mult - Expanded Form

Problem Set: 6

1

2

3

128 30 93 115 42 135
7 8 9 10 11 12

656 144 248 292 855 585
13 14 15 16 17 18

328 180 576 364 140 594
19 20 21 22 23 24

296 120 612 391 105 504
25 26 27 28 29 30

208 415 72 213 256 483
31 32 33 34 35 36

153 392 130 122 198 207
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